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L OFDXE LEICHOPLELLED, OFVERRTYZLE. )
® 200k 50% HbhHE7= L. 250T,

200 +(50)= 250
@ 738l%. 700k 30 8x Hh i HTT,
138 =(700) + (30 + 3]
@ 40313, 400k 3z HbHE7= BT,
403 = (200 + (3]
@ 800t 40% HHE7= L. 840TT,
)+ )= 80
® 612(F. 600k 10k 2 H b= BHTT,
612 = )+ ]+l
® 20913, 200 9z Hb 7= BT,

209 =)+
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L OFDXE LEICHOPLELLED, OFVERRTYZLE. )
® 200k 50% HbhHE7= L. 250T,

@ 738l%. 700k 30k 8 Hh = BT,

738 = (700] +(30] +[5

@ 40313, 400k 3z Hbht7= BT,

@ 800k 40% HH 7 #iE, 840TY,

® 612lF, 600 10 2% HbtE7- K TT,

612 =[600]+[10)+(2]

® 2091%. 200 9 HbH 7/~ T,

209 = (200 + 7]
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